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1. A 2% rate of inflation ____ for the next 2 years.

(A) is expected (B) is expecting (C) will expect (D) has expected

2. Not a single watch is allowed to pass over the shop counter unless it
_____personally by the representatives.

(A) will inspect (B) will be inspected (C) has been inspecting (D) has been

inspected

3. You won" t be able to move forward if you don’ t know _____ the clients
can afford.

(A) which (B) who (C) whom (D) what

4, Choosing _____ to retire is an important and personal decision. No

matter the age you retire, contact Social Security in advance to learn your
choices.
(A) when (B) who (C) where (D) how
5. The movie is a story about a boy and a dog _____ are true friends.
(A) that (B) who (C) which (D) as
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